EH3—4

FERIGRMEFRERERRE (RVAVRUVZDLEEY)
1 BEXRRJEEYEE=2YT

1 EfEA FPEORK - R/ - FHE

250 (BT : ngMn/m?)
200
150 -
FEEHE 140 25X
=/
100 |
¢ ‘ ‘ * iy
s AN
50 Y r'y . | | | |
0 y=—2.16x+62.4
O O «+d N OO < 1N O N 00 OO O 4 N N < un
T — — — — — i — i — i oN o o o o o
I r I r r I I r I I I I T T T T n=8~16
2 kAR AHLR, RO RK - s - EIE
B 4 3
140 1R EHE: 140 (Rt nelin/m)
120
100
80 O
=N
60 /N
* 1y
—-—+¢ ¢
40 4 ———|
¢ T T ¢
20 L=
y=—1.90x+48.5
O T T T T T T T T T 1
H16 H17 H18 H19 H20 H21 H22 H23 H24 H25 i




